Division par 10* (C)

1+10t=

16 = 101

79 = 101

57 - 101t

56 ~ 107

85+ 10*

38 =101

90 <+ 10*

26 + 10"

21+ 10*

Trouvez chaque quotient.

15 - 10 =

87 - 10 =

66 = 10*

57 =101

92 +10' =

18 =10 =

24 + 10 =

37 ~10' =

23 +10*

5-+10'=
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Division par 10* (C) Solutions

1+10'=0,1

16 - 10'=1,6

79 +10'=7,9

57 +10'=5,7

56 +10'=5,6

85+ 10'=8,5

38 +10'=3,8

90 +~10*=9

26 +10'=2,6

21+10'=211

Trouvez chaque quotient.

15+10'=1,5

87 +10'=8,7

66 +~10'=6,6

57 +10'=5,7

92 +10'=9,2

18+10'=1,8

24 +10'=2,4

37 +10'=3,7

23+10'=2,3

5+10'=0,5
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